

$$\frac{(1+x+x^2+x^3+\dots)(1+x^2+x^4+x^6+\dots)(1+x^4+x^8+\dots)(1+x+x^2+x^3)(1+x)}{\text{jabka} \quad \text{bandy} \quad \text{hrusky} \quad \text{pomaranče} \quad \text{pomelo}}$$

$$x^2 \cdot x^4 \cdot x^4 \cdot 1 \cdot 1 = x^{10}$$

$$(2) + (4) + (4)$$

$$x^2 \cdot x^0 \cdot x^4 \cdot x^3 \cdot x = x^{10}$$

$$\vdots$$

$$\frac{1}{1-x} \cdot \frac{1}{1-x^2} \cdot \frac{1}{1-x^4} \cdot \frac{1-x^4}{1-x} \cdot (1+x) = \frac{1}{(1-x)^3}$$

Rozvineme:

$$(1-x)^{-3} = \binom{2}{2} + \binom{3}{2} \cdot x + \binom{4}{2} x^2 + \dots + \binom{n+3}{3-1} x^n + \dots$$

Odpověď: $\binom{n+2}{2} = \frac{(n+2)(n+1)}{2}$

8) Rozviňte:

$$a) \frac{x}{x+2} = \frac{x}{2 - (-x)} = \frac{x/2}{1 - (-\frac{x}{2})} = \frac{x}{2} - \frac{x^2}{4} + \frac{x^3}{8} - \frac{x^4}{16} + \dots + (-1)^{n+1} \frac{x^{n+1}}{2^{n+1}} + \dots$$

$$= \sum_{n=1}^{\infty} (-1)^{n-1} \frac{x^n}{2^n}$$

obecněji: $\frac{1}{ax+b} = \frac{1}{b - (-ax)} = \frac{1/b}{1 - (-\frac{ax}{b})} = \sum_{n=0}^{\infty} \frac{1}{b} \cdot \left(-\frac{ax}{b}\right)^n$

$$b) \frac{x^2+x+1}{2x^3-3x^2+1} = \frac{x^2+x+1}{(x-1)^2(2x+1)} = \frac{A}{2x+1} + \frac{B}{x-1} + \frac{C}{(x-1)^2}$$

$$2x^3-3x^2+1 = (x-1)^2(2x+1)$$

	2	-3	0	1	
1	2	-1	-1	0	
1	2	1	0		

$$x^2+x+1 = A(x-1)^2 + B(2x+1)(x-1) + C(2x+1)$$

$$x=1: 3 = 3C \Rightarrow C=1$$

$$x=-\frac{1}{2}: \frac{3}{4} = A\left(-\frac{3}{2}\right)^2 \Rightarrow A = \frac{1}{3}$$

$$x=0: 1 = A - B + C \Rightarrow B = A + C - 1 = \frac{1}{3}$$

$$\frac{x^2+x+1}{2x^3-3x^2+1} = \frac{1/3}{1+2x} - \frac{1/3}{1-x} + \frac{1}{(1-x)^2} =$$

$$= \sum_{n=0}^{\infty} \left(\frac{1}{3} (-2x)^n - \frac{1}{3} \cdot x^n + \binom{n+1}{1} x^n \right) = \sum_{n=0}^{\infty} \left[\frac{1}{3} (-2)^n - 1 + (n+1) \right] x^n$$

$$a_0, a_1, a_2, \dots \longrightarrow a_0 + a_1 x + a_2 x^2 + \dots = A(x)$$

$$\alpha \cdot a_0, \alpha \cdot a_1, \dots \longrightarrow \alpha \cdot (a_0 + a_1 x + a_2 x^2 + \dots) = \alpha \cdot A(x)$$

$$0, a_0, a_1, a_2, \dots \longrightarrow 0 + a_0 x + a_1 x^2 + \dots = x \cdot A(x)$$

$$a_1, a_2, \dots \longrightarrow a_1 + a_2 x + a_3 x^2 + \dots = \frac{A(x) - a_0}{x}$$

$$a_0, 0, a_1, 0, a_2, 0, \dots \longrightarrow a_0 + a_1 x^2 + a_2 x^4 + \dots = A(x^2)$$

$$\textcircled{79} \quad \frac{1}{1-x} = \sum_{n=0}^{\infty} x^n \Rightarrow \left(\frac{1}{1-x} \right)' = \left(\sum_{n=0}^{\infty} x^n \right)' = \sum_{n=0}^{\infty} n \cdot x^{n-1} = \sum_{n=0}^{\infty} (n+1) x^n$$

$$\frac{1}{1-x} \xleftrightarrow{\text{v.f.p.}} (1, 1, 1, 1, \dots) \quad a) \quad \frac{1}{(1-x)^2} \xleftrightarrow{\text{v.f.p.}} (1, 2, 3, 4, \dots)$$

Obecněji: $f(x) \leftrightarrow (a_0, a_1, \dots)$ $f'(x) \xleftrightarrow{\text{v.f.p.}} (1 \cdot a_1, 2 \cdot a_2, 3 \cdot a_3, \dots)$

$$b) \quad \frac{1}{(1-x)^2} \xleftrightarrow{\text{v.f.p.}} (1, 2, 3, 4, \dots)$$

$$\frac{2}{(1-x)^3} \xleftrightarrow{\text{v.f.p.}} \begin{array}{r} (1 \cdot 2, 2 \cdot 3, 3 \cdot 4, \dots) \\ - \quad 1 \cdot 1, 2 \cdot 2, 3 \cdot 3 \\ \hline 1 \cdot 1, 2 \cdot 1, 3 \cdot 1, \dots \end{array} \Rightarrow f(x) = \frac{2}{(1-x)^3} - \frac{1}{(1-x)^2}$$

JINAK:

$$\frac{x}{(1-x)^2} \leftrightarrow (0, 1, 2, 3, 4, \dots)$$

$$\left(\frac{x}{(1-x)^2} \right)' \leftrightarrow (1 \cdot 1, 2 \cdot 2, 3 \cdot 3, \dots)$$

$$c) (1, 1, 2, 2, 4, 4, 8, 8, \dots)$$

$$\frac{1}{1-x} \leftrightarrow (1, 1, 1, 1, \dots)$$

$$A(x) = \frac{1}{1-2x} \leftrightarrow (1, 2, 4, 8, \dots)$$

$$A(x^2) = \frac{1}{1-2x^2} \leftrightarrow (1, 0, 2, 0, 4, 0, 8, \dots)$$

$$x \cdot A(x^2) = \frac{x}{1-2x^2} \leftrightarrow (0, 1, 0, 2, 0, 4, 0, 8, \dots)$$

$$\frac{x+1}{1-2x^2} \leftrightarrow (1, 1, 2, 2, 4, 4, 8, 8, \dots)$$

$$d) (9, 0, 0, 2 \cdot 16, 0, 0, 4 \cdot 25, 0, 0, 8 \cdot 36, \dots)$$

$$(9, 2 \cdot 16, 4 \cdot 25, 8 \cdot 36, \dots)$$

$$(9, 16, 25, 36, \dots) = (3^2, 4^2, 5^2, \dots)$$

$$f(x) = \frac{1+x}{(1-x)^3} \leftrightarrow (1^2, 2^2, 3^2, \dots) \Rightarrow \frac{f(x) - (1+4x)}{x^2} \leftrightarrow (3^2, 4^2, 5^2, \dots)$$

$$\text{subst. } x \leftarrow 2x \Rightarrow \frac{f(2x) - (1+8x)}{4x^2} \leftrightarrow (1 \cdot 3^2, 2 \cdot 4^2, 4 \cdot 5^2, 8 \cdot 6^2, \dots)$$

$$\text{subst. } x \leftarrow x^3 \Rightarrow \frac{f(2x^3) - (1+8x^3)}{4x^6} \leftrightarrow (9, 0, 0, 2 \cdot 16, 0, 0, \dots)$$

$$e) F(x) - x^2 \cdot F(x) + \frac{x}{1-x^3}$$

$$F(x) \leftrightarrow (9, 0, 0, 32, 0, 0, \dots)$$

$$x^2 F(x) \leftrightarrow (0, 0, 9, 0, 0, 32, \dots)$$

$$\frac{x}{1-x^3} \leftrightarrow (0, 1, 0, 0, 1, 0, 0, 1, 0, \dots)$$

$$\textcircled{b} \quad a_n = a_{n-1} + 2a_{n-2} + (-1)^n + [n=1] \quad \left| \begin{array}{l} a_0 = \frac{a_{-1}}{0} + \frac{2a_{-2}}{0} + (-1)^0 = 1 \\ a_1 = a_0 + \frac{2a_{-1}}{0} + (-1)^1 = 0 \end{array} \right.$$

* x^n a sčítame pro $n = 0 \dots \infty$

$$\sum_{n=0}^{\infty} a_n x^n = x \sum_{n=0}^{\infty} a_{n-1} x^{n-1} + 2 \sum_{n=0}^{\infty} a_{n-2} x^n + \sum_{n=0}^{\infty} (-1)^n x^n + \sum_{n=0}^{\infty} [n=1] x^n$$

$$A(x) = x \cdot A(x) + 2x^2 \cdot A(x) + \frac{1}{1+x} + x$$

$$A(x) [1 - x - 2x^2] = \frac{1}{1+x} + x$$

$$A(x) = \frac{x^2 + x + 1}{(1+x)(1-x-2x^2)} = \frac{x^2 + x + 1}{(1+x)^2(1-2x)}, \text{ dalek and joko } \textcircled{78}$$

13) pozorování v Pr. 65ⁿ 1, 1, 2, 3, 5, 8, 13, 21 $N_0 = 0$

Dobráme index! $\exists e N_m = F_{2m}$: $\underline{m=1}$ $N_1 = 1 = F_2$

$$\text{II. } N_m = N_{m-1} + \sum_{k=1}^{m-1} N_k + 1 \stackrel{!p}{=} F_{2m-2} + F_{2m-2} + F_{2m-4} + \dots + F_2 + F_1 = \dots = F_{2m-2} + \underbrace{F_{2m-2} + F_{2m-3} + \dots + F_1}_{F_{2m-1}} = F_{2m-2} + F_{2m-1} = F_{2m} \quad \square$$

odvození bez "pozorování"

$V(x) \xleftrightarrow{\text{v.f.p}} N_m$, tj. $V(x) = \sum_{n=0}^{\infty} N_n x^n$

$$N_n = N_{n-1} + \sum_{k=1}^{n-1} N_k + 1 - [n=0] \quad | \cdot x^n ; \Sigma$$

$$V(x) = x \cdot V(x) + \sum_{n=0}^{\infty} \sum_{k=0}^{n-1} N_k x^n + \frac{1}{1-x} - 1$$

$$\sum_{k=0}^{\infty} \sum_{n=k}^{\infty} N_k x^n = \left(\sum_{k=0}^{\infty} N_k x^k \right) \cdot \left(\sum_{n=k}^{\infty} x^n \right) =$$

$$= \left(\sum_{k=0}^{\infty} N_k x^k \right) \cdot \frac{x}{1-x} = V(x) \cdot \frac{x}{1-x}$$

$$V(x) = x \cdot V(x) + \frac{x}{1-x} V(x) + \frac{x}{1-x} \Rightarrow \boxed{V(x) = \frac{x}{1-3x+x^2}} \xrightarrow{+62} N_n = F_{2n}$$

